

SEMIPRIME RINGS WITH HYPERCENTRAL DERIVATIONS

TSIU-KWEN LEE

ABSTRACT. Let R be a semiprime ring with a derivation d , λ a left ideal of R and k, n two positive integers. Suppose that $[d(x^n), x^n]_k = 0$ for all $x \in \lambda$. Then $[\lambda, R]d(R) = 0$. That is, there exists a central idempotent $e \in U$, the left Utumi quotient ring of R , such that d vanishes identically on eU and $\lambda(1 - e)$ is central in $(1 - e)U$.

In [16] Posner proved a result on derivations in prime rings. The well-known result states that if R is a prime ring with a nonzero derivation d such that $[x, d(x)] = xd(x) - d(x)x$ is central for all $x \in R$, then R is commutative. Recently, many authors studied Posner's theorem in more generalized versions. Vukman proved in [18] the theorem: Let R be a prime ring, $\text{char } R \neq 2, 3$, and d a nonzero derivation of R such that $[d(x), x, x]$ is central for all $x \in R$. Then R is commutative. In [7] Deng and Bell generalized Vukman's result to the semiprime case with more weak conditions. More precisely, they proved the theorem: Let R be a semiprime ring with a nonzero derivation d and let λ be a left ideal of R such that $d(\lambda) \neq 0$. Then R must contain a nonzero central ideal if one of the following holds: (i) $[d(x), x, x]$ is central for all $x \in \lambda$, where R is a 6-torsion free ring; (ii) $[d(x), x^n]$ is central for all $x \in \lambda$, where n is a fixed positive integer and R is an $n!$ -torsion free ring. More related results had been obtained in [5], [6], [14], [12], [13] and [15].

The goal of this paper is to prove a common generalization of these results. To give its statement we first fix some notation. Let R be a ring. For $x, y \in R$, the commutator of x and y , denoted by $[x, y]$, is defined to be $xy - yx$. For each $k \geq 1$, the k -th commutator $[x, y]_k$ is defined inductively as follows: $[x, y]_1 = [x, y]$ and $[x, y]_{k+1} = [[x, y]_k, y]$. Now the result we want to prove in this paper is the following

MAIN THEOREM. *Let R be a semiprime ring with a derivation d , λ a left ideal of R and k, n two positive integers. Suppose that $[d(x^n), x^n]_k = 0$ for all $x \in \lambda$. Then $[\lambda, R]d(R) = 0$. That is, there exists a central idempotent e of U , the left Utumi quotient ring of R , such that d vanishes identically on eU and $\lambda(1 - e)$ is central in $(1 - e)U$.*

We remark that the Main Theorem gives a common generalization of the following theorems: [16; Theorem 2], [18; Theorem 1], [7; Theorems 1 and 2], [6; Theorem 1 and Main Theorem 1] and [12; Theorem 1]. Before proceeding the proof of the Main Theorem we first quote two results which will be used in this paper.

Received by the editors September 9, 1994; revised March 24, 1995.

AMS subject classification: 16W25, 16N60.

Key words and phrases: semiprime rings, derivations, differential identities.

© Canadian Mathematical Society 1995.

THEOREM A (CHUANG AND LIN, [4]). *Let R be a ring without nonzero nil ideals and let k be a fixed positive integer. If $a \in R$ is such that, to each $y \in R$, there corresponds a positive integer $n = n(a, y)$ such that $[a, y^n]_k = 0$, then a is central.*

THEOREM B (CHUANG AND LEE, [6]). *Let R be a semiprime ring, λ a left ideal of R and d a derivation of R such that $d(x^n)$ is central, $n = n(x) \geq 1$, for all $x \in \lambda$, where the $n(x)$'s are bounded. Then $[\lambda, R]d(R) = 0$.*

Throughout this paper for a semiprime ring R we denote by $U(R)$ the left Utumi quotient ring of R , by $Q(R)$ the two-sided Martindale quotient ring of R and by $C(R)$ the extended centroid of R . We begin this paper with a version of Theorem A in terms of derivations for the situation when R is a prime ring.

LEMMA 1. *Let R be a prime ring with a nonzero derivation d . Suppose that $[d(x^n), x^n]_k = 0$ for all $x \in R$, where k and n are two fixed positive integers. Then R is commutative.*

PROOF. Note that

$$(1) \quad [d(x), x^n]_{k+1} = [x, [d(x^n), x^n]_k] = 0$$

for all $x \in R$. In particular, by (1) for $x, y \in R$ we have

$$(2) \quad [d(x)y + xd(y), (xy)^n]_{k+1} = 0.$$

If d is not $Q(R)$ -inner, by Kharchenko's theorem [10] (2) implies that $[xz, (xy)^n]_{k+1} = 0$ for all $x, y, z \in R$. Applying [3] again, we obtain $[xz, (xy)^n]_{k+1} = 0$ for all $x, y, z \in U(R)$. Take $x = 1$. Then $[z, y^n]_{k+1} = 0$ for all $y, z \in R$. Therefore R is a prime PI-ring. In particular, R contains no nonzero nil ideals. Now Theorem A implies that R is commutative as desired. Therefore d can be assumed to be $Q(R)$ -inner. That is, there exists an element $b \in Q(R)$ such that $d(x) = [b, x]$ for all $x \in R$. Then by assumption $[b, x^n]_{k+1} = 0$ for all $x \in R$ and hence for all $x \in U(R)$ [3]. Recall that $U(R)$ is also a prime ring. Also, $b \notin C(R)$ since $d \neq 0$. So $U(R)$ contains no nonzero nil ideals by [17, Ex. 7.6.3, p. 287], since $[b, X^n]_{k+1} = 0$ is a nontrivial GPI of $U(R)$. By Theorem A, either $b \in C(R)$ or $U(R)$ is commutative, a contradiction. This completes the proof.

LEMMA 2. *Let R be a prime ring and let λ be a left ideal of R . Suppose that $x^m \in \lambda$ for all $x \in R$, where m is a fixed positive integer. Then λ contains a nonzero ideal of R .*

PROOF. Let A be the additive subgroup of R generated by all elements x^m with $x \in R$. Then by Chuang's theorem [2] either x^m is central for all $x \in R$ or λ contains a noncentral Lie ideal L of R unless $R = M_2(\text{GF}(2))$, where $\text{GF}(2)$ denotes the Galois field of two elements. Suppose first that x^m is central for all $x \in R$. In this case, R contains no nonzero nil ideals. Therefore by [9; Theorem 3.2.2] R is commutative and hence λ itself is a nonzero ideal of R . Suppose next that λ contains a noncentral Lie ideal L of R . Then by [11; Theorem 12] the subring of R generated by L contains a nonzero ideal of R unless $\text{char } R = 2$ and $\dim_{C(R)} RC(R) = 4$. Thus it remains to check the case $\dim_{C(R)} RC(R) = 4$.

Note that in this case R contains a nonzero central element α . Then $\alpha^m R$ is a nonzero ideal of R contained in λ . Now the proof is complete.

Although the next lemma seems to be well-known, for completeness we will give the result here since it is a crucial step in the proof of the Main Theorem and has no suitable reference in the literature. Recall that the left Utumi quotient ring can be defined for any right faithful ring R (i.e., $Ra = 0$, $a \in R$, implies $a = 0$). Note that a dense left ideal λ of a right faithful ring R itself is a right faithful ring. Moreover, $U(\lambda)$ coincides with $U(R)$. More precisely, there exists a ring isomorphism ϕ from $U(\lambda)$ onto $U(R)$ such that $\phi(x) = x$ for all $x \in \lambda$.

LEMMA 3. *Let R be a right faithful ring and λ be a dense left ideal of R . Suppose that δ is a derivation from λ into R , i.e., δ is an additive mapping from λ into R such that $\delta(xy) = x\delta(y) + \delta(x)y$ for all $x, y \in \lambda$. Then δ can be uniquely extended to a derivation of $U(R)$.*

PROOF. Denote by $\phi: U(\lambda) \rightarrow U(R)$ the ring isomorphism from $U(\lambda)$ onto $U(R)$ such that $\phi(x) = x$ for all $x \in \lambda$. Let i be the inclusion mapping from R into $U(R)$. Set $\bar{\delta} = \phi^{-1} \circ i \circ \delta$. Then $\bar{\delta}$ is a derivation from λ into $U(\lambda)$. By [14; Lemma 2] $\bar{\delta}$ can be uniquely extended to a derivation of $U(\lambda)$. We also denote the derivation by $\bar{\delta}$. Then it is clear that $\phi \circ \bar{\delta} \circ \phi^{-1}$ is a unique derivation of $U(R)$ extending the derivation $\delta: \lambda \rightarrow R$. This completes the proof.

We are now in a position to handle the situation when R is a prime ring.

LEMMA 4. *The Main Theorem holds when R is a prime ring.*

PROOF. Assume first that d is an inner derivation of R , that is, there exists $a \in R$ such that $d(x) = [a, x]$ for all $x \in R$. Note that by hypothesis $[a, x^n]_{k+1} = 0$ for all $x \in \lambda$. Expanding it we get $x^{n(k+1)}a \in \lambda$ for all $x \in \lambda$. Consider the set $\lambda_0 = \{x \in \lambda \mid xa \in \lambda\}$, a left ideal of R . We remark that for any $t \in R$, $\lambda t = 0$ if and only if $\lambda_0 t = 0$. Indeed, if $\lambda_0 t = 0$, then $x^{n(k+1)}t = 0$ for all $x \in \lambda$ since $x^{n(k+1)} \in \lambda_0$ for all $x \in \lambda$. By [8; Theorem 2 with $n(x)$ bounded] $\lambda t = 0$ follows. Set $\bar{\lambda}_0 = \lambda_0 / (\lambda_0 \cap r_R(\lambda_0))$ and $\bar{\lambda} = \lambda / (\lambda \cap r_R(\lambda))$, where $r_R(\lambda_0)$ and $r_R(\lambda)$ denote the right annihilators of λ_0 and λ in R , respectively. It follows from the above that $\bar{\lambda}_0$ is a left ideal of the prime ring $\bar{\lambda}$ such that $\bar{x}^{n(k+1)} \in \bar{\lambda}_0$ for all $\bar{x} \in \bar{\lambda}$. By Lemma 2, $\bar{\lambda}_0$ contains a nonzero ideal of $\bar{\lambda}$. In particular, $\bar{\lambda}_0$ is a dense left ideal of $\bar{\lambda}$. Define the mapping $\bar{d}: \bar{\lambda}_0 \rightarrow \bar{\lambda}$ by $\bar{d}(\bar{x}) = \overline{[a, x]}$ for $x \in \lambda_0$ and $\bar{x} = x + (\lambda \cap r_R(\lambda))$. Then \bar{d} is a well-defined derivation from $\bar{\lambda}_0$ into $\bar{\lambda}$ satisfying $[\bar{d}(\bar{x}^n), \bar{x}^n]_k = 0$ for all $\bar{x} \in \bar{\lambda}_0$. By Lemma 3, \bar{d} can be uniquely extended to a derivation of $U(\bar{\lambda})$, denoted by \bar{d} also. Note that ${}_{\bar{\lambda}}\bar{\lambda}_0$ is a dense left submodule of ${}_{\bar{\lambda}}U(\bar{\lambda})$. Applying [14; Theorem 2] we have $[\bar{d}(\bar{x}^n), \bar{x}^n]_k = 0$ for all $\bar{x} \in U(\bar{\lambda})$. Now Lemma 1 implies that either $\bar{d} = 0$ or $[U(\bar{\lambda}), U(\bar{\lambda})] = 0$.

If $\bar{d} = 0$, then in particular $\bar{d}(\bar{\lambda}_0) = 0$, which implies that $\lambda_0[a, \lambda_0] = 0$ or equivalently $\lambda[a, \lambda_0] = 0$. On the other hand, if $[U(\bar{\lambda}), U(\bar{\lambda})] = 0$, then $\lambda[\lambda, \lambda] = 0$. For $x \in \lambda_0$ and $y \in \lambda$ we have $xa \in \lambda$ and hence $\lambda((xa)y - y(xa)) = 0$. Since $\lambda(xy - yx) = 0$, this formula implies $\lambda x(ay - ya) = 0$. In particular, $x^2[a, y] = 0$ for all $x \in \lambda_0$, $y \in \lambda$. So

$x^{2n(k+1)}[a, \lambda] = 0$ for all $x \in \lambda$. Applying Felzenszwalb's theorem [8] again, we obtain $\lambda[a, \lambda] = 0$.

In either case, $\lambda[a, \lambda_0] = 0$ always holds. Let $x \in \lambda$. Using this and $x^{n(k+1)} \in \lambda_0$ to expand $[a, x^{n(k+1)}]_{k+1} = 0$ we yield $[a, x^{n(k+1)}]x^{nk(k+1)} = 0$. On the other hand, $x^{nk(k+1)}[a, x^{n(k+1)}] = 0$. Thus $[a, x^\ell] = 0$, where $\ell = n(k+1)^2$. Now Theorem B implies that either a is central or $[\lambda, R] = 0$, which finishes the case.

For the general case we note first that λ and $U(R)\lambda$ satisfy the differential GPIs with coefficients in $U(R)$, since $R\lambda \subseteq \lambda$ and since R and $U(R)$ satisfy the same differential GPIs with coefficients in $U(R)$ by [14; Theorem 3]. Also, d can be uniquely extended to a derivation of $U(R)$. Replacing R and λ by $U(R)$ and $U(R)\lambda$ respectively we may assume that $R = U(R)$. In this case we have $R = Q(R) = U(R)$.

If d is $Q(R)$ -inner, then we are done by the inner case. Therefore we may assume that d is not $Q(R)$ -inner. We want to apply Kharchenko's theorem to handle this situation. As before, $[d(x), x^n]_{k+1} = 0$ for all $x \in \lambda$. Using the same argument given in the proof of Lemma 1, $[x, (yx)^n]_{k+1} = 0$ for all $x \in \lambda$ and $y \in R$. Applying the inner case we have $[Rx, R][x, R] = 0$, which implies that x is central. That is, λ is central. Then either $\lambda = 0$ or R is commutative. This completes the proof.

PROOF OF THE MAIN THEOREM. For simplicity, let $U = U(R)$. Since $U\lambda$ and λ satisfy the same differential GPIs with coefficients in U , we may assume that $R = U$. Denote by B the complete Boolean algebra of idempotents in $C(R)$ [1]. Fix a maximal ideal Δ of B . Then ΔU is a prime ideal of U invariant under all derivations of U [1]. Let \bar{d} be the canonical derivation of $U/\Delta U$ induced by d . Then $[\bar{d}(\bar{x}^n), \bar{x}^n]_k = 0$ for all $\bar{x} \in \bar{\lambda} = (\lambda + \Delta U)/\Delta U$. Now Lemma 4 implies that $[\bar{\lambda}, \bar{U}]d(\bar{U}) = 0$, where $\bar{U} = U/\Delta U$. That is, $[\lambda, U]d(U) \subseteq \Delta U$.

But since $\cap\{\Delta U \mid \Delta \text{ is any maximal ideal of } B\} = 0$ by [1], we obtain $[\lambda, U]d(U) = 0$ as desired. For the rest, it is a matter of routine by the theory of orthogonal completion for semiprime rings that $[\lambda, U]d(U) = 0$ is equivalent to the fact that there exists a central idempotent $e \in U$ such that $U = eU \oplus (1 - e)U$ with $d = 0$ on eU and $\lambda(1 - e)$ central in $(1 - e)U$. This finishes the proof of the Main Theorem.

ACKNOWLEDGEMENT. The author would like to thank the referee for his suggestion which simplifies the proof of Lemma 1.

REFERENCES

1. K. I. Beidar, *Rings of quotients of semiprime rings*, Vestnik Moskov. Univ. Ser I Math. Meh., (Engl. transl. Moscow Univ. Math. Bull.) **33**(1978), 36–42.
2. C. L. Chuang, *The additive subgroup generated by a polynomial*, Israel J. Math. **59**(1987), 98–106.
3. ———, *GPIs having coefficients in Utumi quotient rings*, Proc. Amer. Math. Soc. **103**(1988), 723–728.
4. C. L. Chuang and J. S. Lin, *On a conjecture of Herstein*, J. Algebra **126**(1989), 119–138.
5. C. L. Chuang, *Hypercentral derivations*, J. Algebra **166**(1994), 34–71.
6. C. L. Chuang and T. K. Lee, *On the one-sided version of hypercenter theorem*, Chinese J. Math., to appear.
7. Q. Deng and H. E. Bell, *On derivations and commutativity in semiprime rings*, preprint.
8. B. Felzenszwalb, *On a result of Levitzki*, Canad. Math. Bull. **21**(1978), 241–242.
9. I. N. Herstein, *Noncommutative rings*, Carus Math. Monographs **15**, 1968.

10. V. K. Kharchenko, *Differential identities of semiprime rings*, Algebra and Logic **17**(1978), 155–168.
11. C. Lanski and S. Montgomery, *Lie structure of prime rings of characteristic 2*, Pacific J. Math. **42**(1972), 117–136.
12. ———, *An Engel condition with derivations*, Proc. Amer. Math. Soc. **118**(1993), 731–734.
13. P. H. Lee and T. K. Lee, *Derivations with Engel conditions on multilinear polynomials*, Proc. Amer. Math. Soc., to appear.
14. T. K. Lee, *Semiprime rings with differential identities*, Bull. Inst. Math. Acad. Sinica **20**(1992), 27–38.
15. ———, *Derivations with Engel conditions on left ideals*, manuscript.
16. E. C. Posner, *Derivations in prime rings*, Proc. Amer. Math. Soc. **8**(1957), 1093–1100.
17. L. H. Rowen, *Polynomial identities in ring theory*, Academic Press, New York, 1980.
18. J. Vukman, *Commuting and centralizing mappings in prime rings*, Proc. Amer. Math. Soc. **109**(1990), 47–52.

Department of Mathematics
National Taiwan University
Taipei, Taiwan 10764